The typical answer

First Activity : (16) pts

Cross out the correct answer :

The GDP depends on personal consumption, business investment and government spending (i)
The production of the Egyptian countries inside Algeria's borders is calculated amoung GNP [{UE)

The deficit in the trade balance reveals power in the country's economy which is the high volume of
imports and exports{False)

Investing $500 at 2 percent interest for eight years makes the amount at the end of the period up to
$580, so this is compound interest{FaISe)

Investing $200 at 2 percent interest for 5 years makes the amount at the end of the period up to $250,
so this is a simple interest ([FUS)

The foreign exchange reserve is the the state's own currency{(False)

Purchasing smuggled cigarettes at prices well below the prevailing prices on the regular market is an
example of black market trading|(iiUe)

The variable part of the Payment includes the salary (FaISe)

The salary is a fixed part [{fUe)

Equal pay for equal work is the principle that two people should be paid for the same wor k {Ug)
Performance-related pay is the linking of an individual's pay in part to his or her performance(iEaISe)
Selection of employees are Activities aimed at evaluating job applicants based on their abilities(iEUe)
Change management is an organization that seeks to improve the company's position ({itue)

Competitive process is associated with discouraging work climate, and the administration's inability to

suppor t{iEaISE)

Determining the individual's income may lead to an arbitrary ruling on a disease that leads to harm to

the interest{iflie)

The ratio means the percentage/{iflie)

The increase of the volume of a country’s exports compared to it’s exports is the Trade balance

Surplus(fFFie)

Services are physical and tangible items|[FlISe)

Services are intangible items|{TRUS)



Interest is determined in the light of several factors The most important of which is the size of the loan
and the term of its repayment/{iilie)

The black market is an informal market that arises for two reasons|{iite)
The payment usually consists of a fixed part and a variable part{iUe)
An employee is the owner of a company{False)

Making interviews is among the selection of employees process|iEUe)

Activity N°2: 1pts

Individual performance refers to the results achieved by an individual compared to his
competitors

Activity N°3: 1pts
Candidates are tested on solving issues.

Activity N°4: 2pts
Management Quality is :



